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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. The thermometer that is suitable for measuring 2000°C is:
(a) Gas thermometer

(b) Mercury thermometer

(c) Total radiation pyrometer

(d) Vapour pressure thermometer

T. 2000°C ATYA & T 3UYh YAHIKX &
(T) T gAEAR

(1) URT AT

(&) $or fafepor arEieHe

(31) AT ST YATHAIT
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VARSHA KUMARI 11 hours ago Ritika Pravakar 9 hours ago
Option C is correct answer.... Total radiation pyrometer can measure the temperature of Correct option is D)

a body without making contact and quite suitable to measure up to 2000 c @ & & Pyrometers or radiation thermometers are used to detect thermal radiation from hot
bodies. Pyrometers measure temperature higher than 1000

e 'GP Reply 0

C. Total radiation pyrometer can measure the temperature of a body without making

contact and quite suitable to measure up to 2000

0

5 GF  Reply Show less

e Babita Kumari 11 hours ago I‘ 1 g[l Reply

Options -(c)... Total radiation pyrometers ... Thank you 50 MUCh SIM Ju o' sn s sa @ Deepmani Bhardwaj 1 second ago

Deepmani Bhardwaj 1 second ago

Absolutely correct & Varsha

A Absolutely correct & and good to see answer in detail Ritika
e 2 P Reply 75 CI Reply

Deepmani Bhardwaj 1 second ago

Absolutely correct & Babita Kiran Kumari 11 hours ago
The thermometer that is suitable for measuring 2000 degree Celsius?

TOTAL RADIATION PYROMETER
Thanku sir J ss s ae

sachin Biradar 9 hours ago

o Ans :C Total radiation pyrometer eGP Reply
The total radiation pyrometer will receive the radiation from a specific body which will — :
include both the visible and the invisible radiations

iy ' G Reply

Deepmani Bhardwaj 1 second ago

Absolutely correct & Sachin Great
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- Annu Singh 11 hours ago
e Deepak Kumar 10 hours ago o | d? | © ) . . A an. AL CIVILIAN HUB 11 hours 2go
Option c- pyrometer total radiation pyrometer is used to measure 2000 degree celsius W Ceeccooceeeee
1 Repl
eGP Repy eGP Reny a1 GF  Repy

Deepmani Bhardwaj 0 seconds ago

Absolutely correct &
f5 CI  Reply

ABDUR RAHMAMN 11 hours ago
C {Pyrometer} @ W@

e ' G Repy

Deepmani Bhardwaj 1 second ago

Absolutely correct &=
05 CH  Reply

MANADEEP 1 hour ago
cey

e OJ Reply

a Deepmani Bhardwaj 1 second ago

Deepmani Bhardwaj 1 second ago
Absolutely correct & Annu great

iy GA Reply

K.rs JLJ 11 hours ago
Ans- Total radiation pyrometer

s ' GF Reply

Deepmani Bhardwaj 1 second ago
Absolutely correct =2 KPS GREAT

Deepmani Bhardwaj 1 second ago

Absolutely correct &

05 CJ Reply
Raja yadav 11 hours ago
Cc
e ' GP Reply

Deepmani Bhardwaj 1 second ago
Absolutely correct &=
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Q. When a glass rod is kept in the steam, its length increases, but its width:
(a) Remains unaffected
(b) Decreases

(c) Increases
(d) Is chaotic

Y. 59 Hid P O3 B HT A @ AT & df 3P JFas 96 Al &, Re
dlsTs -

(@) 3TfaT & &

() gc I &

(&) dear ®

(3Y) IRTSTH §
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Q. What is absolute zero temperature?
(a) The starting point of any temperature scale
(b) Theoretically the lowest possible temperature

(c) The temperature at which the vapour of any liquid substance is condensed
(d) None of the above

U. WRHA YT dATTATT T BT §7?

(T) forelt off draaAre S & IR feig

(&) dgifde O & Tad FF HT dTIHATA

(I a8 agaAT 59 w R ga gery & g gufada gar ©
&) 3ugE # A PIS A&
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Q. Which of the following is an example of striated muscle?

(a) muscles of the arms

(b) muscles of the pupil (iris) in the eye

(c¢) cardiac muscles

(d) muscles of the legs [SSC JE 2021]

. Aeafai@d & ¥ dla 3RTE&T ATGUfAA_T &1 Th 3SRI0T 2

(T) Hom3it M AFUTAAT

(&) a7 A gl (TRATRepT) Hr ATFURET

(IY) g gy FHARRT

@) W Hr IR [THTEEY o5 2021]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Which of the following is an example of striated muscle?

(a) muscles of the arms

(b) muscles of the pupil (iris) in the eye

(c¢) cardiac muscles

(d) muscles of the legs [SSC JE 2021]

. Aeafai@d & ¥ dla 3RTE&T ATGUfAA_T &1 Th 3SRI0T 2

(T) Hom3it M AFUTAAT

(&) a7 A gl (TRATRepT) Hr ATFURET

(IY) g gy FHARRT

@) W Hr IR [THTEEY o5 2021]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. A safety seat belt in a car exerts a force on our body to:

(a) facilitate some Kind of backward motion

(b) make our forward motion faster

(c) rule out any kind of backward motion

(d) make our forward motion slower [SSC JE 2021]

T. %R A T Hie dec TAR WR R Ae=afaf@d & fow o oo ¢

(T) forelt g hr el aifad i Flaursiers gawem

() TARY 39T Y aIfa & aF B

(@) frdr o ypR A NS afa A 1| Y

&) AN 3mer fir afq Gl & & [THTEEY 9% 2021]
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Q. Zika virus was first discovered in 1947 and is named after the Zika in
Uganda.

(a) desert

(b) river

(c) hill

(d) forest [SSC JE 2021]

. fIdl aRRE Ugell aR 1947 F @IS IR A7 3R sHHT AF Jonsr A e
& AH W WM AT B
(V) A=

(&) &
CGUREG]
(3r) ST [TETEdT SF 2021]
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Q. The velocity-time graph for uniform motion of a car is:

(a) a straight line with non-zero slope and intercept

(b) a parabola

(c) a straight line passing through the origin

(d) a straight line parallel to the time axis [SSC JE 2021]

U.Th dR H THIAT fad & v Jor-g8T amw §:

(T) - elred 3R U & |1 v ey @rn

CHRER GG

(H1) 3cufd & ATIH F IGRA el T Hel T@n

(3Y) AT 38T & AR Th Hiefy 3@r [THTEEr 318 2021]
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Q. A single pendulum consists of a small metallic ball or a piece of stone
suspended from a rigid stand by a thread. The metallic ball is called the
of the pendulum.

(a) hinge

(b) bob

(c) knob

(d) head [SSCJE 2021]

. Uh UGl 3 TP BIE Ui & Iig AT YA &l Teh gohal il & S Th 4rar A
HOR TS W oIl VT &1 Ui M g D dlleled B el ST &
(T) ol
(&) afer

(&) ﬂ?f
&) W [THTEHEr 318 2021]
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Q. Which of the following is NOT necessarily a part of a school laboratory
compound microscope?

(a) Mirror

(b) Objective lens

(c) Eye-piece

(d) Camera [SSC JE 2021]

u. Reafof@a # @ Pl a1 3HaTd §T q Fhod TR A gaaeeil @
feear et &7

(T) guor

(&) 33T o

(&) 3" P ghaT

() T [ToTaEdt 9% 2021]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Which of the following is NOT necessarily a part of a school laboratory
compound microscope?

(a) Mirror

(b) Objective lens

(c) Eye-piece

(d) Camera [SSC JE 2021]

u. Reafof@a # @ Pl a1 3HaTd §T q Fhod TR A gaaeeil @
feear et &7

(T) guor

(&) 33T o

(&) 3" P ghaT

() T [ToTaEdt 9% 2021]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

QA is a passive two-terminal electrical component that implements
electrical resistance as a circuit element.

(a) capacitor

(b) resistor

(c) diode

(d) transistor [SSC JE 2021]

v. Teh s fAfShT Q)-efiad faa g & St Ifdhe daca & §a A
fga ufoy @ ey F=ar #

(T) g9

(&) ufardr

(&) s

(3) gifaee [caTady i 2021]
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Q. Who among the following discovered vaccination against anthrax?
(a) Maurice Hilleman

(b) Edward Jenner

(c) Robert Koch

(d) Louis Pasteur [SSC JE 2021]

q. Aei@ag # § raa tdaw & arw Sepraor fr @t fir e

(T) AR A

() Tsas AR

(&) e P

(3Y) o8 UK [TTEd S$ 2021]
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Q. The receives blood from the right atrium and pumps it to the lungs,
where it is loaded with oxygen.

(a) right ventricle

(b) left ventricle

(c) left atrium

(d) mitral valve [SSC JE 2021]

v. cifex 3Mifelg & T U XaT & 3R 58 BHsl d U9 &dT ¢,
STel Ig 3ot ¥ W Sar &

(T) &E dfgpa

(&) 91T dfiehe

(&) a9 3nfeig

() ASeA ared [caTadr 9% 2021]
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Q. Malicious software is any program or file that is harmful to a computer user.
Which of the following is malicious software?

(a) Malware

(b) Nero Burning ROM

(c) Bonjour

(d) CCleaner [SSC JE 2021]

U. gHIETqUT HiTedIX IS i U A1 Bied § S Y 3uANThAT & foT
gl ¢l e & & dla a1 gHiaaqoT AlFEdaT &7

(T) ATdW

(&) Ry afeter A=

() guATd

(31) AT FelleR [caTadr 51 2021]
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Q. What is the process called when the heavier component of a mixture settles
down after adding it to water?

(a) sieving

(b) threshing

(c) yarning

(d) sedimentation [SSC JE 2021]

v. 39 fRH0r # HlY g ure # o & 91 A 36 Jar €, ar 39 ufehar &t
AT el JATdT &2

(&) 3radTe [cauadt 95 2021]
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Q. Chemical disinfection of drinking water can be done using:

(a) bromine

(b) fluorine

(c) chlorine

(d) iodine [SSCJE 2021]

7.9 & Ul & ARG HIETIRNUA T SUAET Hld AT ST TheT ©:

(T) AT

(&) TR

(&) FaA

@) IS [cauEd 3% 2021]
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Q. Which of the following is a cause of pollution of water resources?

(a) Dead aquatic plants

(b) Deforestation

(c) Dead aquatic animals

(d) Radioactive substances [SSC JE 2021]

U, [AFAT&d d & Dl A1 ST HATYAT & UGWUT &Pl HRUT 7

(T) FT ST Gl

(&) aat $r wers

() Jd STl SR

@) A9t uerd [caTEdt 3 2021]
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Q. Which of the following is NOT a noble gas?

(a) Argon

(b) Boron

(c) Krypton

(d) Neon [SSC JE 2021]

v. Aaei@a # ¥ ala-ar agd g a8 &7

(T) 3R

(&) IR

(&) fopcee

CORGERIG [Taeadr S5 2021]
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Q. Expansion during heating:

(a) Occurs only in solid

(b) Increases the weight of the material
(c) Decreases the density of the material
(d) None of the above

UW*WW

(T) &hdel G H BT &

() G BT I de T ©

(@) G fr gdqcT FHA P SaT §

(3) 35U H q PIs Tl

Adda

e
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Q. What is the use of thermostat?
(a) To measure the temperature

(b) To increase the temperature

(c) To maintain the temperature

(d) None of the above

O. JHEEE T 3T T & ?
(T) dIUATA & AU & forg
(&) dUAT Fe - & foT

(HY) dgATT deIT @A & fow

(3) 35U H q PIs Tl

Adda

e
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Q. If the temperature of air increases, how would it affect its ability to assume
water vapor:

(a) Decrease

(b) Increase

(c) Firstly decrease, then again increase
(d) Remains constant

U. IS I I dUATT ¢ ST &, d SHDI STfarey JFUT el &l &THAAT UL T
UHTT USITT:

(T) Y BT

(&) Fer

(&) gser gew, R gerv

@) BRI TAT ©
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Q. A fan produces feeling of comfort during hot weather because:
(a) Fan supplies cold air

(b) Our perspiration evaporates rapidly

(c) Our body radiates more heat

(d) Conductivity of air increase

v, 3 ANH A UEr ARTHA BT e PIar & Fifep:
(T) UEr 33t gar & 3gfa T

() TART g dot ¥ arud @ S #

(I TART R 31AF FoAT FARPRT Far &
Enag & Arelehdl A Jig

Adda
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Q. When water is heated from 0°C to 10°C. It’s volume:
(a) Increases

(b) Decreases

(c) Does not change

(d) First decreases and then increases

U. 39 Uil @l 0°CH 10°Cdd A fopam Srar §1 IJg A6 &
(T) 95T &

() gc I &

() Tl IS ®

(8Y) Uger gedr & 3R R aear &

Adda
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Q. Cloudy nights are warmer compared to clear cloudless nights, because clouds:
(a) Prevent cold waves from the sky from descending earth

(b) Reflect back the heat given off by earth

(c) Produce heat and radiate it towards earth

(d) Absorb heat from the atmosphere and send it towards earth

¥. Aureoifcd Td T AUrsied Tdh Hr Jorar d 3fQes 73 adr §, =i
dicgel:

(T) ITHAT q 3 i P Wl W 3 F Vb

() g2t gRT NS € FuAT P AU Wrafdd T &

(@) A 3cue=t HY 3R 38 gt Fir AR fahor wY

(E)) AIATEROT | FCAT T ITMYOT FY 37 gt $ir 3R H9a §




